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sn“- x+cos " x=1

This is the first of three
Pythagorean Identities



Reciprocal Trig Functions

1
cscl = : How did we get this, you wonder?
sin &
r sinf (y sinf y
r
Which according
to page 74 is csc @
1
cscl =

sin @



Reciprocal Trig Functions

. secl =
sin @ cos@

cscl =

cotld =

tan @




And don’t forget...

sin@ cos@
cotO =

cosO sin @

tan@ =




. 2
sin” x+cos”x =1

sm2x+cos2x_ 1

sinx  sin“x sin® x

2 2
l+cot" x=csc” x

2 2
tan  x+1=sec” x

These are the three
Pythagorean Identities



Show that

stn@cot@ = cos @ Rewrite in terms of sine

and cosine
cos @
m =cos6
S

cos@ =cosd




Show that

cscl
=cotd

sec @
|

Sﬁll 0 = cot

cos @

cosf
= cot@

sin @



Show that

S1n 6’(1 + cot’ 9) —csSc@  Notice the identity first

sin @(csc” @) = csc b

Simé L =cscl
sin” @
1 =cscl

Sin @



